.R. Klapptest - Prozentrechnen 6

Falte das Blatt entlang der Linie und berechne p, (W-100 : p=G)
1) W= 35,26 km p=20,2% G = km G = 17630,00 km
2) W= 76,44 km p =0,4% G = km G = 19110,00 km
3) W= 62,56 mm p = 0,4% G = mm G = 15640,00 mm
4) W = 81,21 m? p=0,5% G= m? G = 16242,00 m?
5) W= 67,75 kg p=20,9% G = kg G = 7527,78 kg
6) W= 29,78 m? p=10% G= m? G = 2978,00 m?
7) W= 47,88 cm p=1,3% G = cm G = 3683,08 cm
8) W= 21,46 km p=20,7% G = km G = 3065,71 km
9) W = 29,95 kg p=1,3% G = kg G = 2303,85 kg
10) W = 49,42 m? p=1,2% G = m?3 G = 4118,33 m?
11) W = 68,65 mm p =20,8% G = mm G = 8581,25 mm
12) W = 78,59 km p=20,9% G = km G = 8732,22 km
13) W = 24,49 dm p=20,9% G = dm G = 2721,11 dm
14) W =1,77 m? p=1,3% G = m?3 G = 136,15 m?
15) W = 8,13 km p =0,6% G = km G = 1355,00 km
Ergebnis:

__ISP.
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